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1. Conwert the larger metric units into smaller metric units,

a] Comvert 3 meters to centimeters.

bl Convert 0.9 meters to centimeters,

c) Convert 8.1 liters to milli-liters
d) Comvert 0.537 liters to milli-lters.

el Convert 905 kilometers to meters
fi Convert(.234 km to meters.

gl Convert 6.4 kilograms to grams
h} Convert 0.6 kilograms to grams

im= Il[: O = -"::FG cm
09m= | (W S 40 cm
gitx OO0 = ZoC mi
05371 [Q00 = 537 m
905kmx 1000 = 40S00 m

02Mkmx oo = 7134 m

6.4 kg = igEg_'J = _{= ﬂﬂg‘
o6kgx 000 = ﬁC“(‘: g

i} Ewplain why converting from meters to centimeters uses a different conversion factor (x 100)
than conwerting from liters to milllliters, kilometers to meters, and kllograms to grams [x
1000}. Express the conversions (g) and (h) above using exponents.
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2. Read each aloud as you write the equivalent measures.

a) 35kms= 4 00
b) 123L= R T
c] 2.002kg= Z kg Z 3
dj 3mL= 0.003

e) 3012g= 501 &

H 0.0l m=zZiDem
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. The length of the bar for 3 high jurmp competition must always be 4.7% m. Express this messurement in
mallimseters. Explain yous Ehinking using a0 equation that Fcluded an exposnl.

+.15m = 4750 mm
4.5 %102 ¢1%0

& A honey bee's length measures 1 om. Express this measurement in metbers.

a. Explain your thimking using 4 place value chart.
| | Lem= 0.0lm

i 14 s

m lejlot L

b. Explain your thinking using an equation that includes an exponent.

. <
1 =10 = 00| |

£ lamed drinks B00 mi of water each day during Ml woskout. Henry drisis 600 mi daily durning his workaut,
if lemes works out 3 days each weel, and Herry works out 5 days each week, how many libers do the
boys drink in all each week while working out?

Jameg B00mL A 5 = ZAdcoml. = 2.4 L
The boeys

-'r’mvr@ ocomlx 5 = 30coml. = 3.0L- dnnk 5.4 |
4L ﬂ-l'l'nﬁd'htr
tackh week .
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6. Katrina needs to tie ribbons around 10 flower arrangements for a party, Each arrangement requires 1.2
m of ribbon, She also needs 325 cm of ribbon to tie to the balloons for the party. If Katrina buys 15 m of
ribbon, will she have enough? If so, how much ribbon (in meters) will she have left? If not, how many
more meters of ribbon will she need to buy?

Klf’u‘r‘i‘ohﬂ% M'-lh-ﬂmhfﬁ!I-;\-'-’-Et:ﬂ:g 1Zm  LTZXN0=Zm

batleons | 3.25m |

315,100 = 3.25m

| Z..00 Kotrina won+ have f“o‘xﬁh
i ribbowr . She naads A
15.25 m
6. 25w ynere.
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